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ABSTRACT

Elliptical Types of English Verb Phrases

Oh Ji-Young
Advisor : Prof. Lee Nam Geun,Ph.D.
Department of English Education

Graduate School of Chosun University

Verb Phrase Ellipsis is an important subject in this thesis, and the
aim of this thesis can't be properly understood without any prior
knowledge of Ellipsis.

I will present conditions under which verb phrases are elided based
on positive and negative examples. I will provide several scholars's
theories about analisys of verb phrase ellipsis. They state anahporic
phenomenon and which part of a clause is omitted with syntactic,
semantic, morphologic features.

Moreover I will provide various Elliptical Types —-Factor that affect
verb phrase ellipsis include: the distance between antecedent and
ellipsis site, the syntactic relation between antecedent and ellipsis
site, Auxiliary and VP deletion, and the presence or absence of
adjuncts. Building on these results, I will examine where in the
generation architecture VP ellipsis should be located.

[l start with description of Ellipsis, followed by an overview of the

research described in this thesis.



T4 HEAARE FrEER gala%dd A Aol fle
Z =

c oA olslE VxR &JF SHA doh =, ‘:@MW
(3]

=l ° A
Bouton(1970)- %/\]':IL Aol A3 FH S Alf-al sdAde] =4
Aol #al odE Fo AL, Jackendoff(1972)+= T A
o8 Atate] o]&& =3tk Eric Potsdam(1997)2 Ayehe] AlokS ¢}
FaL, FHy Lo Qg AR JheAS A Elal, Ana Carrera
Hernandez(2006)= &3t Aol SAHA oAl dis =9 sk3len,
Kirsten Gengel(2007)< &AH A=t sAbawlg Blu, thx o=n &
Ab- AEFel Aleks AlAjskal ok el

3= 2ol TER StAHEY] o2 EulE FARE A w3 o)

Fe FHES AAE oItk o] Aok Bt Bulst 4o ueh 9
A% BFoRe Bgo] ofwi Uojubex] My o Lol FAT A
2ol B7b 2 A 0P A FAT S el B, 2401 not
o BN 4TS 2UE BE AU FAT AAG Al 220l @

F gl e ohjea FFsku ol noto] BAT AT Hrkshe 27

=
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I. A A

1. e 24

Aef(ellipsis)S FolE XFSH B dojo] JalaFolA HEA o= o
U= Ao shueltt. 49 s AAsE AL doje] w3l xdel
A asAd B oofde} ou] Ao YoM WIAHES FU|E ) YAATE
oA sAte} HAp b= Al ARel| Fo0E v|gelal F JHE M| JbE
stk s wald A AgE Q4o thI Yz BAAS Ha
2 ) &, 29 dojuh A dol= WhEA] QlojA e o] oA W)

Md
o
N
=
olo
)
a
o
=
o)
@.
o
g
[o
ol
S
>
i
re
2 o
=
r_gﬁ
lo
fol
o
oX,
:;1
ol
Lot
oX,
tlo
©
i

T4 o] =idAE A HMYE WA T2 (grammatical omission) 2.
2 A3 =, ‘because’ S ‘cos’E E=o] 2 T FL ofF g4 ©&
golu} ‘fluenza' & ‘fluAd 925 ol &2 Tgla ‘don't' ‘TU'H
ge o

% AR o] =&olA ALkl ot A FARE JHd ] ARA
of Nt g4, 2elar Ay sl & B el el

Ak thgel o F enA.

(1) a. John wants to go to the park.
b. *John wants John to go to the park.

HEAAZE D oetd(la)= (Ih)Ehes 714 2o FAHAES &

1) "= G279 dojgle] 7px|al Ju WHS Elgstar, oo sk A2
A o] F2Z 7)o dthi= N. Choamskyell olaf Aot whde &,



F dom AbelA 5L FoIQ John o] F-H o R AAFHE W] A&
Ak Ty (Jays A @4l dojd Aol ofyzhal ot sivst
Aol Savh FAMNER Al&lﬂ—é SVOT2E AU il (1b)7h &
= 7bestA @] witelth S, AAE AT arEel A ol FeiA= A4 A
= =AY RS TEA %*ﬂfs}—t— 1]
geto] o] Fojx A FErhal = EHA R 1|
ojgkal & & Sl

oz t&@doldt dojE Abgahs l glolM &2 F5S Wil
AHEShs o] ofdEl, ofe] FHe] S A& AR Hee dE B
A}

(2) a. Is there going to be an earthquake in the future? The

newspaper says so.
(so = there is going to be an earthquake in the future.)

b. Jack hasn't found a job yet. He told me so yesterday.
(so = that Jack hasn't found a job yet)

c. Many people believe that the international situation will
deteriorate. Many father think so, but I believe not.

d. At Has he failed?
B: I hope not.

d (2a,b)x so 7} thatd 9] &3 A o] HE= Aol (2¢,d)= not ©]
thatd o] tj-8& 2] 5= 7 g-o]t},
A efo| A et Bhdst Eolek Ao]=38e] A< (performance error)

R

2) Y YA gak (Equi-NP DEletion) @ WE#e] 7484+ 25 NP-Aux-VP=
Hojde Aol Eeitt. ey for T tost 2 Comp® AlAEE WS Aol
£ B Yehs o7t gl 497 ) olget dAe Aol ERS] T
s 73 Yot WEH(Equi NP Deletion)e] &8te] Fo7t 2kadl & 45
o] Vet BETZ(reduced complements)® HAEth

_10_



i

el Aefo] WG £Fom 7o) A, Ak, A, FA 5o U<l
&

AT Sweet(1955)= A Adre] #AddA 7PF Asty] A& A

m oo

2
Mg rlo

WA R B7bsd FRolAe] Aefolgtal sl o]¢h ¥ v
B A}

o i

(3) a. ¥ Had a good time, did you?
b. (?) I think I like Tom, but I ---

c. (?) You seem to be able to use -+ very well.

oA (Ba)w= Aol o8 Fo7F gle w2dldl vkl (3b), (Bo)® 2o+
T,‘i_ s

et 927] iG] A Bl ohe BT Tl

o] Folelx)
G & 5 gt
ge] SapEel nhEw AgEe] AoBESL shed P AT T3

(4) A: Have you spoken to the doctor?
B: Yes, [ have (spoken to the doctor.)

9 GERA (M) BAS UBCIMNAY AFakn wdel HAFA o
of Qo] AA E&Mol Atk A A SAT Bl QoA onHo
=

2 Yeptol st =&(argument)o] F53AY Aedst= oAl olu] LE}
HE =T T dFVF FEeHeEE O 759 ofgtvh g JHle)
F3bo] shafel Aapaold o]zt o] Fo] A wf wASia 3 4 9l

Jeperson(1933)> AJgF A2 AUy oz Qs font dArofof
shal AlEFE o gk oo o] oAle] AA7} gl A F-ollnt AYEFo]
vEelgor gttt wetar ok 1= Ao dAlo g 2ldte]  FolA

_11_



(ambiguity)e] 28 2 A2Fe ssiAck shvl YeFa o st 29
of oisl e4e] oAz} ghe Wl @M Uolups Ao sl%s 3
4% HU £l FHANE W, AR 2 BE A TS
2o A Aelsha gk,

(5) a. He is rich, but his brother is not ( ).
b. It generally costs six shillings, but [ paid only five ().

$(5)2] o= Jepersone] Ak Ao mE H{ JleAd 7S i Ao
o gy 29 AYe FAsHA Hdo] o]FoAA e vl ofF A
(weak ellipsis) 455 AWs 4 3= 284S AYa Aot o3 &
S Hak
(6) a. Thank you.
b. I owe you thanks.
c. I give you thanks.
(6a)= (6b)9}F (6c)A T F 7l o]ite] oz Ho] 7hsdhd], o3&
oF AJeF(weak ellipsis)ole} o]t} oF A2k Adoj#Ql ekl ofe}

o]
Fholu 242l WHolXk T3] dojuh= Aotk W3 Sweets Aol

O>~

=
% o
o
it
Hu
i)
X
r (o]
rg
2,
>
il
ok
ol
o
=2
>
ol
o
g«’ (o]
)

(7) a. He speaks English better than I can speak English.
b. He speaks English better than I can.

& (7Th)& =&
Taow —rEi yereE AL speak English & 59& 4 3t
Sweett ©] l
e e B e e R 378% & Sweet®] Aol e Hol= o] o

_12_



i (8b)7F o BlZo] H=A] dHetA] FF

(8) a. Were you born in 19882
b. *Yes, I was born.

c. Yes, I was born in 1988.

(8b) wHA oz Asle] gl oA HEo| HE olfE HH ThA
Folt}. =, 3A7F e ke =44 98 [ was born & in 1988 K.
o AR 7} G Aolmg AnII g AR I} =& 94T A

3. A9 =4

Quirk(1985:861-862)= AJgfe] 23S Rh=A] dgeow HE Aerd

27F 59 715 (Recoverable from context)d|of sttt #alo), &%

FHF A e Q47F AAY A=k 5 s A ol rEtE 8

i AN Eel AAIE Hol dojH WA ou|s)o] 73t
=1

i h
BRo] FolelztE Bw3s| sjof 3}l Quirkel w
o =

m - ©

o]

M
o3l
=

QA o] Ao ASAT oluchn Askeh, oA W, ol
7 EoldA 4le] A7k glow 1 Bgem e bse weld A7t
s A ol stk ol FAAA & 5 A%l A AL 4

otk
V= N R A

2F

-

g P2 s 2ol /Hed FUF ASewt dojuhe &R BETR

2 A9E1 ok E Quirke Ao dojyt #ge Fulst o3age] wel g
Ag Bgoe] Hlo] thge] ] ols)A dojdrii Atk

(9) A %9 %7
a. g Q4= dis A Hlo] sttt
b. o] WG Fr Bkl
c. AeE el HYe el Jojuk B 2L ofuE Ay

_13_



By B4 wEo] Wit
d AR aat A AR Fueld eluts o) ot
oz yE o] bt
e. ATH L2t AL T Qa0

e BgS (99 20 wet BAE wAp

(10) A: Have you been swimming?

B: Yes, I have been ( ).

(11) She rarely sings, so I don't think she will () tonight.

(1009 thgtollX &4 B &Y 7153 84E swimming ©)7, o (11)
AA sing o2 HEU7FEE7] wite] thE wol: 597 4 %l

S Y] BAe olo] Al wah Agolt dlof Agel B 3§

49l N Belo] Fhsaiy,

(12) Keep (the hot iron) out of the reach of the children.
(Looking at the hot iron on the table)

(13) A: (Have you) Got the tickets?
B: () Haven't got the tickets yet.

it (12)9] 32 m=AL tEv s BHA ofmyrt ofolo Al gt Zo
ot (13)9A] shakel HA} Zro] o] Walx] ol dal = Adolmz
sh&x 23 £ Tzl g AAES wgoR Aol dojwrt. o= HMF
A Y] Aol oal] Lol Anto] e ou|rt A" 4 gl
Chomsky(1965)e] m2H Aere] dire A8S F5t7] 98] Ao =
o=x AFH fa7t o AAE Fol HAHAS W on] MY EFS

_14_



ZekA] S A Folvt Ak gla 3 4 kol ST o= Ak
218 A 249 EdrbsAd Fa ded 55 A YEd 245
Fol L3 Fdo] E ool gow HEEE Q4 AT £ Qdus
AeF Q4o TAA F7o 93 Aolr}
. SAF A AyPAT
1. Bouton(1970) °]&

VPDH ol thste] Aoz WEsk 135S ME A2 Bouton(1970)9]

o
t}. Akmajian & Wasow (1975)0|A % o]¢} GAFsE 12 & A|$-2 9t

(14) VP Deletion (optional)
SD : X=VP-Y—-VP-Z

1 2 3 4 5
SI:1 2 3 © 5
Condition : 2=4

oJ71A 27 “2=4" & identity condition®.Z2A], oJH FA7} AbAlE
T RoeH™ FH WolA FAIHCE A 847 WAl glojof e
et 281 H v s B YUY oA LAY dHAE Bt
= Blo] ujg- ofgue= s & 5 T

(15) a. John understand the situation and surely peter
[@=understand the situation]
b. Bob entered the competition and Paul may @ .
[entered the competition]
c. Peter is complaining about the noise, but John

[@=complain about the noise]

_15_
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d. John hasn’ t met my brother yet, but (he) will @ soon.
[@=meet my brother]
e. John may be questioning our motives, but Peter hasn’ t @

[@=questioned our motives]

(16) a. *Paul denied the charge, but the charge wasn’ t @ by his
friends. [@=denied]

b. *John had observed many of the eneny’ s soldiers, but hadn’ t been @ by
them [@=observed]

(15)9] el ] B FAL AAle] Aololn L Ak AR TEES FAHY
AN FAHE & Aow A2 (162)9h (16b)lAE 18 gk of
dob 2o WO RE (162)9H16b)9] HENAHLS AHT 4 gk

(17)

S

/\

A ﬂs\
/N

MP Aux VPl\

John may be my question our motives, Peter not hav question our motives.

3 1

0 9 (VPD)
FU4o] 240 2t & e FAGE o (R4 Lhehb: ambiguity
g of@s 47 shut s ol

(18) John scratched his arm and Mary did too. (Ross 1967 :189)

_16_



9 g 5 7HA die] sbssttt. @ 7HA= Mary 7t John ° & &
itk Alelal B sfves Mary b AL Es Slve slelth
Ross(1967,1969)% 7138 W] oEa|A ojelg £4 722 Hdysteln
A7) wEell FAR AHAE A Al Aol He wEAe] 23S 48
7A@ 7h . 5, Mary 9F John ©] A2 AASHA @GEelE =

T 5

iy

e ml

Hol 20 HEATE Ao ol Solk Ao|rhY

2. Jackendoff(1972) o] &

g

Jackendoffe] o]2& ojw A B9 u= &A3}A
Zhell TS £

%
1%
met
¥
%o,
fr

(19) Fred got SALLY to kiss him, but SUE refused to.

(20) Fred got SALLY to kiss him, but SUE refused to kiss

him.

(18)°] el xS hdaiA 817] AelAE Sue 7F 9 REAE Ade
Vel Fred 2 Ao] SHel wojof @t} m1el7] Sl Q06N F W
A A9 him o] AEAL but ool QA= him F FAA @Al Qi Aol
geiAol @tk 2@ (197 QO NFE FAT AAE AR £EHAT
3Rt (19)9 438 uaae gaA FAA @A Felo] FAT 4
g WA ool @y e oA ATH vl e E—xw

H
sele mE Wgol A Fol o TolmR EAT AAl del g
Eoe

B 1>

b | R

Jackendoff= ol#1dt LAIE aMAst7] Ast(19)9 &% HolA A
7} Agk @ zglo] empty node® A A3I3L pronominalization®} EA}s 3
A3+2 VP-anaphorZ "=tk

olA AASA HLHA Fe FUAS Rossi= Sloppy Identitydhal dF3ich

_17_



(21) VP-anaphor
Associate with VP? the semantic representation of VP!if.
(a) VP2 is A ; and
(b) VP2 does not both precede and command VP!

o17]A empty nodet TAM O ZE+= oERS] ThE node®t Ho] FHFHH
oo rs ddHA fdevh aga oW el 9eke] ©] empty node
7b omEaS WA Zahd o] B4 dA A ¢4 nodes EFSEAL 1o
ng ougsoer FAHG £de] A

QD] Al et (199 oJvsiAe flste] (199 3 WA de] 5%
S uEhl Helw (22)3 o] Xtk (23)% (22)¢] °M|3EAl(sementic

representation)©] t}.

(22) [s Fred got Sally [sA'to[vp kiss him]]].

(23) Functional Structure :
Get (FRED), SALLY, (KISS(A*,HIM)))
Table of coreference
A2—coref him (reflexivization, 1st cycle)
Sally coref A((complement, 2nd cycle)

Fred coref him (Pronominalization,2nd cycle)

(199 + WA Fx&= (24)¢ #rh. Zglal VP-anaphora’l 485 7]
Ao o|u F A7} (24)0] ),

(24) Sue refused [s [NpAz]to[VPA3]]

(25) functional structure

_18_



REFUSE(SUE,f(sA?2))
Table of coreference

Sue coref A2(complement subject, 2nd cycle)

oA71A mA 9 T f= AL ofA7EA] LA A 2 o' EAFSE &
A AAE Zra SS yERATh ®Eefel] (25)0] VP-anaphorg &% &
STk (25 ofw Al gk AHxdE v AL g gloh 2y sAL
T kiss him & VP!, Z18]al A& VP22 & 4 9l7] wjio| VP-anaphorE
A-gti (25)¢] frfalell KISS(-+ HIM)S tixakAl =a, ¥ vk ol (23)
o] table of coreferenceol|A him & 7}e]7]& F-ES vlto] €S F(A2E

Hprol Yow) glerme vt 2 dE(reading)E A4 dot

(26) Functional Structure
REFUSE (SUE, (KISS(Az2him)))
Table of coreference :
A2-coref him
sue coret A?

Fred coref him

X9 0 2 noncoreferentiality rule®] @25 ol #-8-%] o] table of coreference

2 w5 A9 9A Bk 29w (19)9] S9E A5 Qo) @ 4 3

3. Potsdam(1997)¢] &4

3.1. A=l &3 Aof

Potsdam(1997)2 SAHF A=Fe] 7hs el a3k <do] Jejidel

ARG AT e BAT Al BN TE SATY 5
Aol retsle) 7 whgelekn @ eiA itk 27 A¥ny,

o

ox ofl
o 10 o
2 N

od e
=
offt

_19_



Aol AL low, s A HeA olsE & e FATE tiAlstaL
Utk durd o g, MgPrteE BE R FAAM F3lo] yERdTh Potsdam>
PF (Phonological Form)ollA &AF S 2AZ @A LF (Logical
Form)® Q1§ sA- Ak @agt £A7F HAg o]F=2 o] 7pEE =1

o2 A ek

[¢]

(27) a. Joe will [VP taste the food] if Mikey does taste—the food.
b. Elvis has been sighted at DisneylLand! So, what famous
celebrity hasn't-been— sighted—at Disneykand?
c. Matt is moving to Finland and Sophie might also be

. Pintand.

Be ATl glovl, AgAtst

o~
2=
T At} Potsdam? =F& FTUA9
]

A P A6l e A
ATl fA ok S HAA
EWE P4 2AYDL, F BT
7 e Sk EAE e S

A FHy wdAds Bdoz WA dE AAR wbd (28)L FH A

(28) a. *I am confused about ellipsis and you will be—confused
-about ellipsis too.
b. *Chris has been to Rome and his wife might have been
to-Reme as well.

Potsdamo] 38l Wt FAHES A Z4 o #3t 5 A
’d ol A %ﬂo] St 9&o] FolelA], o o (28)= H]a-HA Aot} 1

2
Ao]t}. Potsdam< Warner(1985)= %€ 7

_20_



F FAT At BAE Feje] 45482 A

3.2. A= A B B

FAE 67HA F shte] FEjE dEhd vk #A, dA 9, 84 5
T, 98, -en = -ing FHo|t}. A g oF
Abell o) gt 3 FAM 7 A2 tE FEolA SAE ol & sAel o
d Megrl dES & 5 ks Aotk ojudt AlgdEo] A=A, ke 2l
i, 7 oAlge] AAbe] BAb Fejel BALT Abole] FejH FUAo] £
st=A 9] ofiteltt. o] Aol sl Potsdama Warner®| HAg Fd4 <

[} L

l
Applo] Al#efof & 7)E

= 2 A9t} o] HolEHE E3), Warner:s A
e SAbTe Bl #F9Ei= B4 Fu Aelold BUAe ¥ b Aw
5 AUtk s F s AE oln the subs 2EAll B3
o]t

F Ao oal BALT o] AFHAS o), FHH FAY L= 27

A AL Abolell A e w A etk oA oAl (29)o4 AT
AL Bl Aok E9tekal A A gAY F osAE e 2
A gt dE 59 (29a)olA A AA FH fell & 9 fall & *ﬁﬂaq
Warner= &°l& T&°lc HE X&

=
thal AEFar (29)004 Beol X AX Y g sUdAdo] 3§ olﬂl’/}.

(29) a. Jack [VP fell down ] and Jill did fall-down too.
b. I didn't touch the TV set, but Percy might have touched
the—TV—=set:

c. If you haven't told them yet, you really should tell-them:
d. Are they arguing? Yes, they always do argue:

(30)2 Pullum¥ Wilson(1977)2] Aletd #zS Q okt AHolt)

_21_



(30) Warner?] %A} €9t3t (Warner's Main Verb Generalization)
T Akl 93] FAR o] AEF H A 1Al MIYALERA F

A% FeiH FAe Baw A P

%54 havesh bedl FEIE FUEAE § Bish ofd A4FSe 2%
Abel BARE d Aolol A e dHd BAgel EAY W A o)
7h gel A Mg Ao ki A4 gk

(31) a. (®*)He may [be thrashed by his father ]. In fact, from

the yells, I think he is being-thrashed-by-hisfather:

b. (x)He simply won't be honest about himself. He never
has been—honest-about himself yet.

c. (*)John is happy and Mary soon will be-happy-

d. (x)John has probably kissed his grandmother goodnight,

but Paul won't h

F Aol Ashe B EAT Aold] FHH SAYe] A gkl A
Byolth, (32)9] AR F BATI stA AL o] o] Fof
168 wolz),

(32) a. John will be happy about the results and Mary will be

happyabout-—the results too.

b. Elvis has been sighted at Disneyland! So, what famous

celebrity hasn't been sighted-at Disneyland?

He 1s being audited by the IRS because his company 1is

(33)> Warner®] Z&Alb dwsts AMsdv. dso d5=2 A JHS

_22_



OJ.IL
N
—
o

=418, Warner®] (30)¢F (33)¢] F 7k ##= 38449 HA=E °

*

(33) Warner?] Z&AF ¢¥k3st (Warner's Auxiliary Verb Generation)

2EAe ola) AT do] AZE A9 £BAE WEA A4

24 w3 FHA S dew gt
4. Hernandez(2006)%] +4
4.1. MM &4
TWstE ol S Willlam(1997) 4] WAlego]  FAfolar Fo
Ackema & Szendroi(2002)°] 9l&| F7F= JNEE AT} (34)+=

wel oAo]ct

(34) [I will buy a houseli and [he @ sell his flatli. (@=will)

il

Williamst $7b 8 FAbe] stz Fusts geldy, $7b Ayoje] T
WA Ae 3 A o 28 bl (35)9 dEAY 9 Fyojel
A AN 72 246 ela)] 57he el

(35) a. John will eat pizza and Mary@ drink wine (& =will)
b. It is ok to eat fish on Fridays and < meat on
Wednesdays (& =eat)
c. That the Earth revolves around the Sun and & the Moon
revolves around the Earth are well-established facts

(@ =that)
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R

14,

i<

oAl (37)& o

g oAl (36)ellA] H.oIA]
%

7

=
T

-
.

3=
Mary)
o2 ZupEX]

3
hul

3|
S|

&

32
{

O
=

2k
=
A

gave,

Ackema & Szendroi(2002)7}

(@ = Mary)

yesterday.
yesterday.

(71

o7} thehto =

(36) John gave Mary a book today and @1 @2 a record
(37) *John gave Mary a book today and bought @ a record

g @4lo]

AAH AH =2 F71 A
Williams®} Ackema & Szendroi

Ackema &

Kol
=

=
™

T
N
o

o
=
Mo

—
file)

Mo

b
2o

F51

-
T

Szendroi

jani
Ho

o FA} dolo] FALR 3

s

=
.

AL o]

Ho

=3
B

NJo

—_
fite)

10

oF

2 o

g ¢l Chomsky:s =49

—_
fite)

ol
Ho

bom Bk 4k Apolol

<]

Bl

Hernandez+ &% A%AF andol ¢

il
o

—

—_

0

p—

file}

o

el

)

e

el
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ol

4.2, THA &z I
Hernandez+= &938t7} of #W4 &2 A of st=Ao st =

Ag AFste el dddch

(38) I will buy the car and you @ sell the motorbike.
(z= wilD)

(39) I brought the car and she @ the motorbike.
(= brought)

NFEE 0B #AE AHYL 2R thE vl 7HA

o,

Koster(1987)¢} Neeleman & van de Koot(2002)& FW A &0 2 A

d

(40) st dge] 9 oA 54
= AYALE Haok sk,

= ]
o M=l X A4H Fa WellA AYALE 7hA of

c. A7ke] B& mfel AAAE Asfor Aok

d. AdPAb= shut o] el F52 7Hd vk

(41) =*Sarah will buy the old car and Hogan @ sell the old

motorbike.

(&= would)

& (41)2 (40a)e] T2 Wt=A] APALS FsjoF vk 54 B3
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Lolth. (4D M would & AAA 5 glvh. ket o] A EAL
X APAZE AoE ] wEolth. Wzt A YA Alole] &ujz HAo]
rEA] v #AE ulg- S Eoh

(42) dAE F&5& 2W DPY FEET AZ He FAE sk §
7b HA @enh A Aoy sAbg ) e AeRA fA v thE

(42) *Sal is a forger of passport and Holly ferges painting.
(gapping)

i

U2E T BAT AA5A Fop AFHAAY Fug @ 5 glonw v
o] i},
Aol A ovld EgoR mel At Fush #F2 J|Lol o

th (43)8F (44)8] oAl= guistel] tigk S Alesta AA &k

(43) A: I can sing
B: and I @ dance.

(44) (Context: James is going to tell Sarah that Sue likes him
but Sarah already knows it and interrupts him)
James: | have to tell you that Sue likes

Sarah: you (*me)

BYA JES B AT AYAA waelAe] e TAAA G 4
BE AFSD 94 on Fusw Qs v A 2B b et
Fuste] LA E2ge sl o BAY 5 gt

(45) A: Mary hurt.

B: herself; T know
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(40)] 5 WA &<l (40b)e] swo] LT Faol el Ay rAt,

(46) a. *Jane can eat the sandwich, Louise could drink a beer
and Sue @ try the hotdog. (@=can)
b. *Jane will eat the bread and I think that Paul @ drink the
coke. (@=will)

Fulshs vpm oo MAALE mEfol AT (6w A WAl B M
A wgkso g HjFEo] Hrt FMEE sty xIdoz udHzAd & ¢l
(46D)9) B2 wE WEALE WA ELAe] BAT AP0 ZH
R EEA SRS ESI PSR ey

¢

rr
=

o
2

714 Fad AL FUEE FUE N4 =4S Frlkt drhe 2
otk ol?l ofulel A FMat MY} Abole] WAL B AASI, BAT A
A SAE ] 95 2 Se] HEEA P AAY mAthe AL W
& 4 otk BAT AAY AT B o 2540 9L mA S ok

2

of F=3soF gt

(47) FA AEF
a. Jane will eat the bread and I think that Paul will eat the
bread too.
b. Jane will eat the bread because Paul will eat the bread

too.

(48) 343
a. ?Jane will eat the bread and I think that Paul will eat the
fruit.

b. ?Jane will eat the bread because Paul will eat the fruit.

(40c)= ZA7he] T are AdAE FsioF ool yebilth (49)=

o
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A AT S AR I e Apolzh ks gulEge] mEWH of Eoltt.

(49) *My cousin can wash his t—shirt, my mother must iron her
skirt and I @ saw my trousers.

(@= can and must)

AelA AFAR AAY @] A FAT o] T HAT A

R Fsta glens enke el 2 g gtk

(50) Wendy is eager to sail around the world and Bruce is eager
to climb Kilimanjaro, but neither of them can @ because
money 1s too tight.

(@=sail or climb)

(51) ??Wendy should sail the English Channel and Bruce climb
Whitney, but surely they won't @ the Pacific or Kilimanjaro.

(@= sail or climb)

olE (10)9] A Sgoz AAAE s olde F4& 1A 4 A
A AR,

(52) Alan will go to London, Richard @ travel to France and
Paola @ visit Canada.

(@=will)

ol#)dt AEL Hankamerol| 9J&)] o]dd] StAIHE QAT Fwa} MsPA} Alo]
gusl Aol EHE oEAM ol FuliE UEY BE -

o,
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5 FAAZ
5. Kirsten Gengel(2007)9] &4

5.1. A+ AJ=F

TAE Fx At AFEE AH vE FHel % A AES /A AE
(549 (6579 dEES TF O SAE O AYE HuE AW
(Pseudogapping) ©.& 7}AHET ALy txE s A A Aista )

=

(53) Because Pavarotti couldn't [vp, el, they asked Domingo to
sing the part.
[e] = sing the part

(54) John talked to Billon Tuseday but Mary didn't [e] until
Wednesday.
[e] = talk

(55) a. Mary met Bill at Berkeley and Sue did [e] too.
b. Mary met Bill at Berkeley although Sue didn't [e].
c. Charlie thinks that Mary met Bill at Berkeley, but Sarah
knows that Sue didn't [e].

a,b,c [e] = meet

(56) a. *Sue didn't [e] but John ate meat.

b. Because Sue didn't [e], John ate meat.
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[e] = eato]

(57) I can't go back to Madison now, but I [e] next week.
[e] = go back

A

= el Age 847 EAskE AR A SolA sA A 34
" odd ddez FMsl, A A(stripping)s .
Warner(1995)= Z5AF FHollA Agfeo] dojdti= FolA, k¢ Q1A
(subjacency condition)®& ARl AZ1 o HolA A W
(pseudogapping) & A~ Ay 7B DA% dAFdow (bt @
Warner= 37Fe] #ANA & of A =S FZ(extraction) ¥ 7HE
7W7he B oE FA TS ey fo] dAE AF ddEel A el
A o] s BEorl AEEe FEA A Al wrelA, AR AR
AR ol FAReE 1 BFo7F s %

o5 ole 5
Fol BAT A e At PR A= REY 570 Hrk

E
>
o
i)
rr
o
o~
o

5.2. AL

o]
w3t dutstel FAE ARy AdEE dYS A HEE o (58)ol A Ho]
A= AAE A 542 A Ad o A 2FAE 7HA A 9low
AHE 24 A= A 2SS AH FYs= DP, PP 7HXITh ofgel o

=

a o Uz A FuE Txe GAEA YEdts A8 g

5) Warner?] 3 {IAlo vehd A3} o] A A 2FAF FHolA Loy uk
% _ir_%% 1\‘—34}] OLT;]_

6) Warnere= &AM AJgfe] RE=A] shue] H4dAx(constituent) & O] AR} HZ0]
AAE oz s gv 2E HoFth T2 there- T2 o]Foizlt)

4 o5 AR A S o] A RS W S g 29
Z



(58) He realized he could make more money in some other position

than he can ¢ farming.

Levin Ut &AbgW (regular Pseudogapping), A9 &AF 3AME
(causative Pseudogapping), Hl1l & AF&® (comparative Pseudogapping) <
TEEAT AFY FAF AW AP A S = bother, interest, scare®t
2o 894 AdA AAgEAreE 2ol vEhu o Ags] ety annoy,
embarrass,  fascinate, surprise®} & AgA OGS FHE=
A% AF(psych verbs), 722]aL knock NP out, wake/keep NP up, or take
NP X long to V A7 Aol gl Al AR #R/E & v & t&
FAFE Y YERd
Ab EAE EARE WO A o] AlE L2X] AEoIY AF ¥ FF
2 ARS 27fskes tiEAtelnh (59)9) dlielAM ®ol= AAH SAL

W w2 ARkl SAE YRRl 3

=

Mo Mo

ol

(59) A: Cream rinse makes my hair get oily faster.

B: It (usually) does @ mine @, too.

(5P (60)e] oAEAFH M Al
&= FEolth

of
=
r l
O:
of\
N
X
o
I
Au)

(60) It makes me feel as bad as it does @ you @

uj 2 Fs FAdL (6D)olA AHF dieFRoAE vl Ao,
(62)4 HH vl B FXRoAE SHstA EH Aot}

(61) *You porobably just feel relived, but I do @ jubilant.
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(62) 1 probably feel more jubilant than you do @ relieved.

g Azste 729 FUsts (63) oA A Blal FRoA= AMEE F

917 Wl Levin® ulaL sjAbgulo] o 7] wol So] ki Ak

(63) a. Lary looses as many pens as Harry does @ pencils.

b. ?*Lary looses as many pens as Harry @ pencils.

AWk o ® Levino] FHIYT AAH FxolA iz A7 EH& AH
SAbE e o ol X 7] At Al ¥ AEHE AR FR7F
A= Wb A ow  wjA E o AAY Hole SAELR Uk od
FAHE2 smell, taste, sound. look¥} #<& A|Z}&Al seem, appear, turn
out¥ T2 FH FALE EFET. ol FARSME tiRH O E own,
contain, constitute®} o] Ho] WAIFE Q7= AH FAY] SAbE o]

=

Q
o FgEct 1 $2AL (64), (65)A A

2
e
o

(64) a. ?This bottle might contain sulfuric acid, but it shoudn't @
copper sulfate.
b. ??This bottle might contain sulfuric acid, but it doesn't @

copper sulfate.

(65) A: These leeks look/smell/taste terrible.
B: a. *Your steak will @ better

b. *The onion rings do Peven worse.

53. AN FAT A

FU_L,
ol
i,
L

Levin(1986)< <183k Johnson(2003) < (66)0] 4 e FARE
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At siabs ) Afololl  efzke]l Apolido] il FAR AR A d sk
SARFAlA S Thssk 1 el Slold Akl o @AZE vk
A=
(66) a. Although it doesn't always _, it sometimes takes a long
time to clean the hamster's cage.
b. ??Although it doesn't _ Sally, it takes Korean a long time

to clean the hamster's cage.

Johnson(1996)> &AFT- Aol A WA HEAlolA s|7kHox]= wbd
A2 1eA] Feks As HolFT] fl8] (67)9 dEs Ak

(67) a. Although Holly doesn't [e], Doc eats rutabagas.
b. *Although Mag doesn't [e] eggplants, Sally eats rutabagas.

A}7F Johnson¥} Lasnik(1995)0] XA 3k A (68)e] oFEoA B

2)
A 5z0] A WS A Ao AR g o R g = gl
(68) *Sally will stand near Mag, but he won't [e] Holly.

7h2 Bl o R AAE (69)9 deAd FAbEES WA ARk
& Aok

o

o]

(69) *While Holly didn't discuss a report about every boy, she did

[e] every girl.

(69)¢] dvbs HlEHer e A (70)9 WFelM s
A AT A = kARE Lasnike] A ZAAY olilE ZEAom F

e M e AL oy 93T S Ak



(70) a. Sally will stand near every woman that you will [e].

b. Hooly discussed a report about every boy that Berman had

[e].

C. 89

9ol o]2e FFs| EW Kirsten Gengel> SAFT Az s 45
Hlal EA e = A el A *“”ﬂ ol tha AL e Atk
Daniel Hardt:= BAMA oz A28 AT it 45 BebA s M

st aL, oA "o s 24“01] el FA 1S ® A3 ). Eric Potsdam
& AR FElel o8 ofe 7R Aleke] S-S UENH O ZA FARE Aol
of Fej4 sddo] Ay ojor 3+S ¥r3lal, A.C. Hernandez9A| 39 3}7}
HA oEAE F ok kA disk SAE AAAY. oYgsk A

Fek JIo =
SRS 7o o]£S PAHAAW obde Ax bE At 47 Aude

A3 glol BAE Aeke] ] W A7s} o] Fol Aok st
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V. AT AF 43
1. A A=
(71) a. Ellsberg was arrested by the FBI, and Fonda was

arrested by the FBI, too.

b. Ellsberg was arrested by the FBI, and Fonda was, too.

ko

99l (71a) oA L E8Z0] U FAT
EH T Wrog Mgz FAT 84
2] (VP deletion (VPD) Rule) o]z} %

oW FAEZE A&skE AT &
o] d& AT HA}

o
%
FIF
ol
_\3
il

f
>,
-
i
=l

f
o,

i)

W A AL dojibs e

(72) a. Tom can paint fences, and Huck can paint fences, too.

b. Tom can paint fences, and Huck can paint &, too.

(73) a. Mae can't help you, but I can help you.
b. Mae can't help you, but I can <.

A ZF oo (a)l ek L3 FA FR7F AEE o] (b)Y
TFol =% HAAT L3 A AR GHEo] a8 dEkR| = &
Kuno(1975)% &AFF 2HAle] Ao =zx SAM FHE 2 (VP-final

condition)= T3} T}

(74) A : Did you persuade John to do it?
B : a) Yes, I persuaded him to do it.
b) Yes, I persuaded him to &.
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(75) A : Did John hit mary with a stick or with a belt?
B : a) He hit her with a belt.
b) *He did @ with a belt.

(76) A: Why did John want to go to Paris?

B: He wanted to @ because mary was there.

=i

o o FolA (7THb7F EHARJ AL A A EH(VP-finaDoll A AJ=F
Aol dojwtr] wjEolar (75b)7F HlEQ] A2 AyEFo] FALFRe] wpx] kol A
dojub#] k97| wi-o|th.(Non VP-final)

gy (76b)] diste| Al AJEFo] FAMGE mRA|Eho Al dojiufA] ke A
o Ho|X 9t pecause o] go there 2 F21o)7} o}Yil wanted
ofolmg FAMG] mpAut R Holet B 4= qglomz FRAQl Flolgal Al

drt w2 Kunots AR 2HA1Q] AlekS th&3 o] A st}

(77) HAE AHA9] A2k (The constraint on VP deletion)
AT Al L 2A] FARRY] HFAA dojue AvkS A&

o,

FAT Agolo] dolibs A9 dF o AvnA BAT AFe e

7} o] AA7F 1= A(tenseless clause)ol|® -89 47} gtk

(78) Betsy wanted to go home, but Peter didn't want to &.
(Z=go home)

&
%0
o

a2]aL AR AA S5 a3k o] sabs el dojde

(79) a. John hit a single after Sandy did @.(@=hit a single)
b. The fact that Tom said he didn't break the window
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made me wonder who did @.(@=break the window)

(80) a. A: Who hit the homerun?
B: Tom did @.(@=hit the homerun)
b. A: Why did you go home?
B: Because John did @.(@=go home)

AT AERS Ross(1967)¢ H3 AR A9 (complex Noun phrase
constraint)P¥} 3 Fo] A2k (Sentential subject constraint)®< ©]7]aL

(80), BDAF HAHEANAME H8Hrh
(81) John didn't hit the homerun, but I know a man who did &.
(82) That Tom won the batting crown is not surprising, but that

Peter didn't know he did @ is indeed surprising.

(@=win the batting crown)

AT Al old FAY FAE AR A4 (Verbal Affix)el %]
DA L 4 flou Quirk, et alo] BAT AL dwHom Ao
AAAAE BRE S QA BeS vhet ol o Asa ek

(83) a. John understands the situation and surely Peter should @.

7) B3 WA A2HComplex Noun Phrase Constraint) @ H2|HAIS £ HAFo| 2

& Aujks el oWl a4k Wy Ho| o8] WA ¥ro® olFAlZ
T fich

8) % o] #|°KSentential Subject Constraint) : ¥+ oj®l S wjt]7} t}E S wjt]o

el AHow A Wi Sl NPl 2l AuEn S o Angee S
o] 2HE oju ga% wog o]Ed 4= ¢l

o
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(@ =understand the situation)
b. Bob entered the comptition and Paul may <.

(D=enter the comptition)

AL Aol els] 1Abel B (Affixial identity)S FAIH T H-gHe
SAT A 54 ta deda & 4 3l Aol ww SEEe] FATol
2 o (80)% FAT Aol Brlsa.

(84) #Paul denied the charge, but the charge wasn't @ by his
friends.(@ =denied)

TeoE AT Al oM 2BA TR UE S A 4
nad Bk g o ES AT BAT AL A gl 1w,

(85) a. Sam will be teaching a class, and Bill will be teaching a
class, too.
b. Sam will be teaching a class, and Bill will, too

(85a)9] ol AT TS AAskd (86)°] Hr.

(86) Sam will be VP, (teaching a class) and Bill will be VP,

(teaching a class).

(86)2] o] oAl VP, =VP, o|BZ EdA Z7lo] == o] BAIEL 2HA|
T8 A8std (87)0] Hrt

(87) Sam will be teaching a class, and Bill will be, too.

(85a)dll AT AHAl F2HS HEste] A2 (85b)= will T Holsl

rr
rlI
1%
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o (86)°] AHEele will be 7HA Hob A=vl Akmajian(1975)2 (86)l
ThA] ZE AL AHA] g o]o] g5 of (87)0] AL A g

ShH Rosst ZXEAME T AR 43 B4 AHAE A
wipe-out Rule)o]2} slo] ZEARe} A EF5 AHASHATE (88c)9F 2
ol el Hol 2EA #AE aAsA Xetta F4Eh

=

(88) a. They said that Tom might have been singing and so he
might have been singing.
b. They said that Tom might have been singing and so he
might <.
c. *They said that tom might have been singing and so he
.

2. 22 TA BH

of
S
>
r
lo
utl
)
rl
N
olr
rlo
B
o
)
®
3.
<
o
o
2
Lo
O
411:
-
)
rl
i)
¥
poss
rlr
olr
oft
=

Chomskyoll €3 FHiolEom At 248ty §3 B 74 F4=0]

Al A et
(89) vtAo] dA= XY

(90) wole] @o] v deoz A Afew Peg
(Phase Impenetrability Condition, X}&+5¥€ PIC)

o
kd

(91) Ao = PICA 98] 4= LF(Logical Form)$t
PF (Phonological Form)7Ale] 7141 A& 74 )t
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#o]= 3o Llgcigees 31%% ‘JrEHH—E Ziolr/} o]
WS Ayl fa A sAE ARl ) AlVIHE vdd EiE
re]l Hegk gido] desith o AL v ¥ %3 FA AHE ¢
Hettt= Aolth. A 9 7hHsd wh-#HF  (wh-extraction)
Chomsky & Lasnik(1993)%} F7F=2 #<t2] Merchant(2004)°] <&l &5 %

PE-AAsg oA Aee] e ALk olzd BN BAT A
L st Fad FALAEA 9dAE ddE AL X9 PF AHAE

etk 2 e FATE QAR e BAA Shel BE B
.

oA A Adekd
Qewe, T e
strpar A3zE givpw g
Lasnik(1999) 9443 P
e 1

olzfe] #¥ 7 (92)o] HWAIE upe}

ri l-'l

(92) A" FAHLAE 3EHA & Y 7|e S £

ot
ol
0
v

(92)= Felok HAF Atolo] A 25 el Qv dE &
(93)ell A B A= AAH Fo -ing
A Aol &3

rlo
U
(L
X,
i)
2
by
QL
=
|
(@)
[aN
rlr
r
rE 2

(93) a. Mary will leave and John already has

b. *John won't enter the competition, but Peter is

gzAAY 7B ER —edt EUHOR (930904 B bsd ww,



(93h)= -ing?] 3 o] oflr},

(94)¢]

AY 29 gk 7ol aloje)

S

& Aol £

17 ®Beltk. (94)

A%

3

=
=1y

N

ol

(94) Only phase heads can trigger deletion/non-pronunciation of

their complement

AT TPl A

Apglel A vk

594 =7 (dentity Condition)ol] A Hlo]

AL TE

o W3k @a7F EAle] Hol W

I
4

.

i

file}

HNE & (95)0l A 8

-
R

3 8 ¢

ox

£l
w-

(95) NUTS, she likes, but ALMONDS, she doesn't.

WEskaL Ak (96) Al

el

o}

bl

ey
)

= BATL A A )

v

of ojtt. EAF AlAle

1)}
b

FAL o A o

ye

—

<
o

Ho
e
XM

|
-

0

(96) Fo1 Qlofol M FAT Al F§
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AEAAW Qo] A BA el shdo] Atst BAT A doje] &
g Abelols BAZE EASHE AN BT W o] ARt griv Fo)
g Fode AT Ao Aypow Agsojef gl

3. to TS AL AT
to FA A to infinitive) = ZEAFA Y ZAL RS 571 = Q)

(97) a. I know I should go to the dentist's but I just don't want
to [VPe.]
[VP e] = [go to the dentist's]
b. *[ know I should go to the dentist's but I just don't want
[IP PRO [I' el]
[IP e] = [PRO go to the dentist's]

Q7 AAHE AAH, to FBARE A AR drteth. 2ey
O7D)A R to7t FARSE A A "ok, A AR & 7R gk
BE to FAAIE FAM ARFE §7F sk A2 obyth. Zwicky(1981),
Lobeck(1995) Z12]3 Zagona(1988)°l <JalH (98)4 & to H-AHAF Ho] =
T FAFY Bojres sk Aol AR e s & 5 A,
QDA F to FBAS] BE&Ed FALS HUto] Ves S BFe FAM A

e s7teE 4 |tk

(98) a. Mag Wildwood wants to read Fred's story and [ also want
to [VP el.

[VP el]= [read Fred's story]

b. You shouldn't play with rifles because it's dangerous to

[VP e][VP el= [play with rifles]

_42_



(99) a.

*Mag Wildwood came to read Fred's story and I also
came to [VP el.

[VP e]= [read Fred's story]
b. *You shouldn't play with rifles because to [VP e] is
dangerous.

[VP e]= [read Fred's story]

o] NP4 b el Z5-ell= oFeff (100)

S o=

S whEshofof shr}.
(100) A Ae] 8)7b 2AM AP A 249)
 gFAe o T} BAT S HE3] AAE, o F

o =

= T
AF W P Yol 98] AA 9n 9 A (direct e-making)7F ¥
ofo} st}

4. B30l notd AT AEF

Lobeck(1995)¢} Potsdam(1997)> oF&ll (101)A&H FAo] noto] A
AES 571 & At AS FESSI

(101) a. Mary will leave but John will not [VP e]
[VP el= [leave]

b. John is leaving but Mary is not [VP e]
[VP e]= [leaving]

c. John left but Mary has not [VP el.
[VP el= [left]

4o note] SAM S 3|7fbshs 7ol 4

F otk FgelE 3
A FAL ek A, BAT A Stk X7b EoRY
2ol 7bsata @A,

(102b)A 7 o A+ ol H-7do] noto

%0,
o
=)
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AT AZFo] b5t

(102) a. John is leaving but Mary's [VP el too.
[VP el]= [leaving]
b. John is leaving but Mary's not [VP e] too.
[VP e]= [leaving]
=4, v BFAY to FAHA Hol AHA oo E/‘]E‘ Ll

dol Fo] E HIlo] 7S sk AT AN AES FUksHA g
(103)9] elieol 1 45 sy atal Atk 2@y Lobeckéldtd to #4
APE Qo 74 o] noto] EAfstH Aol Htt

(103) a. *Mag Wildwood came to read Fred's story and I also
came to [VP el.
[VP el= [read Fred's story]
b. *You shouldn't play with rifles because to [VP e] is
dangerous.

[VP el= [play]

(104) a. Mary wants to get a raise, and for her not to [VP el,
she'd have to refuse to be evaluated.
[VP el= [get a raise]
b. Mag Wildwood came to introduce the barkeep but I came
(precisely) not to [VP el.
[VP el= [introduce the barkeep]

AA . Potsdam(1997) Z&AF should’7} S4AF 0w Adux] o &
AR S Brbssiotar yERRT 28y (105)A-H 25 AF should?F &
Aoz AHARA ol FAF o] F-7do] noto] Yo FA A
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7bsateh. (106)9] ot note] EARFE A

R
IHEE noto] AR AEfe F8YE & g Uk

(105) a. *Kim needn't be there but it is imperative that the order

organizers [I' @[VP el].
[VP el]= [need be there]

b. *Ted didn't want to vacation in Hawaii but his agent
suggested that he [I' Z[VP e]l.
[VP el= [want to vacation in Hawaii]

c. *We think that Mary should present her case to the
committee and we ask that Bill [I' @[VP ell.

[VP el]= [present his case to the committee]

(106) a. A: Should we wake Dad?

B: No! It's absolutely imperative that you not [VP el.
[VP e] =[wake Dad]

b. Kim needs to be there but it is better that the order
organizers [VP el.
[VP e] =[need to be there]

c. Ted hopes to vacation in Liberia but his agent
recommended that he not [VP e].
[VP e] =[hope to vacation]

d. We think that Mary should present her case but we will
ask that Bill not [VP el.
[VP e] =[present her casel

e. At Should I attend the meetings?
B: T suggest that you not [VP el.
[VP e] =[attend the meetings]
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T3 o] note AN A BHESY F71e] S YERATE not
A ZZAl(finite auxiliary verb) F ol =< A = SAE A9
QAW v A ZH%Al(infinite auxiliary verb) FHol =Y uwjo:= A

Hi FATE AT 5 gk

NIC </
% =

(107) a. Kim said he could have heard the news, but Lee said
that he could not 9.
b. *Kim said he could have heard the news, but Lee said

that he could have not <.

(107a)°l A not & 3t
SAF7E YERE A
A} have Holl 9 X3}
3L 9ok
Baltin(1993)2> sAFT-Hro] oftjel A&o] 75 dte FE8AT = FAM
A5l Ayefo]l shEsithal YERTh 18y (108a)dllA] HiTo] A2 A
S d7tshe 2 EAE flow AES §rhebA] ZshAIRE (108b)AH A=
o 7I5& = FEAF kol FAo] note] doW YFEAT A Thsdt
o}

o

ZZA} could Fol YR QoW 1 FHo AeFH
ol "t} A (107b)oll A= not ©] H] A Z&

AE BAT A A% gl B A4S HelF

o

Fl[‘

(108) a. *I consider Bill intelligent and I consider Sally [Ap e].
[Ap el]= [intelligent]
b. I consider Bill intelligent and I consider Sally not[Ap e].
[Ap el]= [intelligent]

webq FAgo] note] EAE BAT wo S7behe 27o] Wtka B},
Potsdam< EE A7} AT AR 3|7Fsh= Fdo] & & Jde AL
olygta F43rk. F4o] noto EAHL Aers d7tete 230l =71 913

e B AAE B3 i F-Hol(sentence negation)o] JoF sk},
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(109) a. Some of the student have been studying but some have
not [VP el.
[VP e]= [been studying]
b. Sara said she could hear the announcement but lee said
that he could not [VP el.

[VP e].= [hear the announcement]

(110) a. *Some of the student have been studying but some have
been not [VP el.
[VP e]= [been studying]
b. *Jo said they could have heard the news but Lee said
they could have not [VP el].
[VP el= [heard the news]

(109)¢] FAo] not & AAE FAS= & FAHo|BR FA A
S FrlEAT (11009 FA4olx= &
7

(constituent negation)°®] =

aw
dlo
=
my
+

webd 2Ao] nots] AT A b 2e

(11D B4 A2l 37F 20C230) not] 49):

¥4o] noto]l FART ATFE s8] AN o] S4HO
2 28 9AY o gAY Augich 2ew JPd w2 v 4y

o
®

Aol A Aaglo]l F-Agol77F 2l oal de = ojx|of 3

5. ZEA] o% SAT A

AT Aol Aoub] 1% /b /1RAHI 20 olesh o] A

FATAL 254 Fol 9310k ek Rtk



(112) a. John can dance and Sandy can &, too.
b. John did dance and Sandy did &, too.
c. John has danced and Sandy has <, too.

d. John was dancing and Sandy was <, too.

AHmodal auxiliary), have, be%s9 Z&A} ¥+ A
boll YA ¢ e AES Ho] Frh oA of#fe] o7f Ko

= A ol Yuk FAL Fel Aza FAT AN & gle A

4o
lo
£
A
O rl o
e
BN
offt

(113) a. *John got arrested by the CIA, and Sandy got &, also
b. *First Sandy began reading Freud, and then John began
.
c. *John considered joining the navy, but Sandy never
considered &.

d. John wanted to go and Sandy wanted <,too

ge] aFel A BATE WEOR A FAES 2FAGE de BE
of ek @ 4 gt Aow ¥ 4 A

ZEAE AAE dehEske] olReh Bl flo] mFolo A e
% Qrk. webd  olele] et mefF
e 25 wEew UEhs 25A7F 247 SAT 4SS 8 g,

N
als
N
)

=
S
=
>
2
BN
o
>
=
S
t
als

(114) a. John is to leave and Sandy is to @, also.
b. John must have been dancing and Sandy must have been
g, too
c. John must have been dancing and Sandy must have ),

too
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d. John must have been dancing and Sandy must &, too

(114a)= ¥ AlAl &AF to Fell, (114b-o)&= TE ZsAS] B

M @4 FEE 2 254 Fel 247 A BATE 948 F e A
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o 2
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A pere el g Aol wHe FeldAE AR Fa
o zBabl o8l BATAE A5 AU AWAIE FHARIA ohd Aol
2 A8 e F 497k vehdth 94 zEAll 98 dAAp) 9 o
e w7 Ade B wEgel Hrh (115)% 2EAR s HEe] 1

(115) a. *I am confused about ellipsis and, after reading this
paper, you will be confused about ellipsis too.
b. *Mary is an auto mechanic and her daughter wants to
be an auto mechanic also.
c. *Chris has been to Rome and his wife might have
been to Rome as well.
d. *Some of the election results have been announced but

the winner can’'t have been announced yet.

Ao Aty s AR (116)d=AH thF-Fo] of&d =+

(116) a. John is being examined but Jack really should be
examined also.

b. He might be attending AA sessions, I know his mother
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has been attending AA sessions.

c. John may be questioning our motives but Peter hasn’t

been questioning our motives.

d. [Snoopy talking to Woodstock, Peanuts cartoon]

You and I are alot alike... Just a common bird and a

common dog. Of course, if we had wanted to be great,
we could have [VP been great ]. .

to be great.

.But we didn’t need

(115)¢] H] 9 oE 7= gxdoz nHjwa 5840 =2
5L 4y HeEE 7|E3= EE o|Ed HlshH A|3F ot} o]AL
4 delel Al ol ok (1D A B9 SAT

(117) A=l &3te= 2EA] A5
z2EA bl olsl | EART A B, AW 2E AL
i) Tde Fel Y B9 A GAs] porso] A
i) & A A Fe FAd 49 Aol 8
i) 49 45 A2 7hssivt
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